}
16@ ( a) {
balance = balance + a;

7 }
200 ( a) {

, change = balance - itemP;
: }
4@ ( balance) {
2% change = balance - itemP;
26 change;
: }

290 ( a) {

' itemP = itemP + a;
; }
330 ( a) {

itemP;

B Problems @ Javadoc @, Declaration B Console X

Insert $1 or $5 bills for payment.

11

Input your selection using #1 - #9, press @ to end:
1: Coke 1.50
2: Pepsi 1.50
3: Sprite 1.50
4: Lays 1.00
5: Cheetos 1.00
6: Cookies 74
7: M&M's 575
8: Mint gum .50
9: Water )
2

You chose Pepsi which cost(s): $1.5

Your change after purchase comes out to $9.5

Your updated balance is $9.5

Input your selection using #1 - #9, press @ to end:

1: Coke 1.50
2: Pepsi 1.50
3: Sprite 1.50
4: Lays )
5: Cheetos 1.00
6: Cookies =75
7: M&M's 275
8: Mint gum .50
9: water 1.00
1



